
Yusen Sung 2008/11/4

X

Fig. 3-1a

Y

X

Fig. 3-1b

Y

Budget line: PxX+PyY=I

I/Px

I/Py

Indifference curve

Slope=-Px/Py

Slope=-MRS(x,y)



Yusen Sung 2008/11/4

Y

X

Y

X

Bads

Satiation

Bad/badGood/bad

Bad/goodGood/good

Y

X

Y

X

Extreme better than average

Lexicographic
X>Y

Y

X

Y

X

1-to-1 complememts 1-to-1 substitutes



Yusen Sung 2008/11/4

X

Fig. 3-3

Y

PxX+PyY=I

I/Px

I/Py

Tangency, MRS =Px/Py
x,y



Yusen Sung 2008/11/4

X

Fig. 3-4a

Y

X and Y: both normal

X

Fig. 3-4b

Y

X inferior, Y normal



Yusen Sung 2008/11/4

X

Fig. 3-5a

Y

X: ordinary

X

Fig. 3-5b

Y

X: Giffen



Yusen Sung 2008/11/4

A

BXB

YB

YA

XA

A

A

A

A

A

B

B

B
B

Contract curve

Endowment

Endowment

Fig. 3-6a  Edgeworth Box

A

BXB

YB

YA

XA

A

B

Fig. 3-6b  No Envy

S

S*



Yusen Sung 2008/11/4

C1
I1I1

C2

I2

I2

Save

Borrow

Fig.3-7  Intertemporal consumption choice

Income smoothing

Slope = -[1+r]


